Hydraulic Flanges
and Components

E I ANEIELD Strength in Products,

Strength in Service




Split Flange Halves and Kits El ANFIELD

(SAE J518/ISO 6162 Type |, 1l)

Anfield kit includes:
- + ¢l b oAl oB -—t- B (2) Split flange halves
B (4) Hex head screws

with lock washers
N I _ 1 B (1) O-ring (Buna-N)
N
0.039~0.060
H
E
F G
Steel / Zinc Plated (CR3)

KIT MOUNTING WT
ﬁ PART NO. HARDWARE W
5 [ [e [0 [ e] v o[ w i [«] wes Jomm]

CODE 61 SPLIT FLANGE

1/2" FO8SF-0 1.22 0.96 1.50 213 0.34 0.91 0.75 0.51 0.24 033  5/16-18X1.25 210 0.15 5000
3/4” F12SF-0 1.53 1.26 1.88 2.56 0.44 1.02 0.87 0.56 0.24 0.41 3/8-16X1.25 214 0.22 5000
1" F16SF-0 1.78 1.53 2.06 2.76 0.52 1.16 0.94 0.63 0.30 0.41 3/8-16X1.25 219 0.26 5000
1-1/4"  F20SF-0 2.04 1.72 2.31 31 0.59 1.44 0.87 0.55 0.30 0.47  7/16-14X1.50 222 0.35 4000
1-1/4"  F20SF-H-0 2.04 1.72 2.31 31 0.59 1.44 0.87 0.63 0.30 047  7/16-14X1.50 222 0.35 5000
1-1/2"  F24SF-0 2.41 2.00 2.75 3.66 0.70 1.63 0.98 0.63 0.30 0.53 1/2-13X1.50 225 0.55 3000
1-1/2"  F24SF-H-0 2.41 2.00 2.75 3.66 0.70 1.63 0.98 0.75 0.30 0.53 1/2-13X1.50 225 0.55 5000
2 F32SF-0 2.84 2.47 3.06 4.02 0.84 1.91 1.02 0.63 0.35 0.53 1/2-13X1.50 228 0.60 3000
2 F32SF-H-0 2.84 2.47 3.06 4.02 0.84 1.91 1.02 0.75 0.35 0.53 1/2-13X1.50 228 0.60 5000
2-1/2"  FAOSF-0 3.34 2.95 3.50 4.49 1.00 213 1.50 0.75 0.35 0.53 1/2-13X1.75 232 0.93 2500
g’ FA8SF-0 4.03 3.58 419 5.28 1.22 2.58 1.61 0.87 0.35 0.67 5/8-11X1.75 237 1.37 2000
3-1/2"  F56SF-0 4.53 4.03 4.75 5.98 1.38 2.76 1.10 0.87 0.42 0.67 5/8-11X2.00 241 1.57 500
4 F64SF-0 5.03 4.53 5.13 6.38 1.53 2.99 1.38 0.98 0.42 0.67 5/8-11X2.00 245 1.79 500
o8 F80SF-0 6.43 9198 6.00 7.24 1.81 3.56 1.61 1.10 0.42 0.67 5/8-11X3.00 253 2.54 500

CODE 62 SPLIT FLANGE

172" FO8SFX-0 1.28 0.97 1.59 2.20 0.36 0.94 0.87 0.63 0.28 033  5/16-18X1.25 210 0.20 6000
3/4” F12SFX-0 1.66 1.28 2 2.80 0.47 118 1.10 0.75 0.32 0.41 3/8-16X1.50 214 0.37 6000
17 F16SFX-0 1.91 1.53 2.25 3.19 0.55 1.38 1.30 0.94 0.35 0.47  7/16-14X1.75 219 0.60 6000
1" F16SFX-0-M  1.91 1.63 2.25 3.19 0.55 1.38 1.30 0.94 0.35 0.51 *M12X1.75 219 0.60 6000

1-1/4"  F20SFX-0 2.16 1.75 2.63 3.74 0.63 1.54 1.50 1.06 0.39 0.53 1(/,3”12?;? 775? 222 0.88 6000

1-1/4”  F20SFX-0-M  2.16 175 2.63 3.74 0.63 1.54 1.50 1.06 0.39 0.57 *M14X1.75 222 0.88 6000
1-1/2"  F24SFX-0 2.53 2.03 3.13 4.41 0.72 1.87 1.69 1.18 0.47 0.67 5/8-11X2.25 205 1.50 6000
2" F32SFX-0 3.16 2.66 3.81 5.28 0.88 2.24 2.05 1.46 0.47 0.83 3/4-10X2.75 228 2.31 6000

Note:

1. Part no. ending in -0 are kit part # includes: (2) split flange halves, (4) hex head screws with washers, (1) Buna-N O-Ring
2. Part no. ending in -2 includes: (1) split flange half only

3. M = Metric ()

4. H = High pressure version (see max. working pressure column)

ANFIELD Flange Catalog / Split Flanges / Rev. C (TBD)

USA: www.anfieldind.com Canada: www.mpfiltricanada.con?




EI ANFIELD captive Flanges

(SAE J518)
oK |
/'//4
C| D OA| OB
Yy
E H
F G

Steel / Zinc Plated (CR3)

DRILLED TAPPED
PART NO. | PART NO.

K K
(DRILLED) | (TAPPED)

CODE 61 CAPTIVE FLANGE
1/2"  F8SFW F8SFTW 1.22 0.96 1.50 213 0.69 1.81 0.75 0.51 0.24 0.33 5/16-18 0.31 5000

3/4”  F12SFW F12SFTW 1.53 1.26 1.88 2.56 0.88 2.05 0.87 0.56 0.24 0.41 3/8-16 0.42 5000
1" F16SFW F16SFTW 1.78 1.53 2.06 2.76 1.04 2.32 0.94 0.63 0.30 0.41 3/8-16 0.49 5000
1-1/4"  F20SFW F20SFTW 2.04 1.72 2.31 3.1 1.19 2.87 0.87 0.55 0.30 0.47 7116-14 0.68 4000
1-1/2"  F24SFW F24SFTW 2.4 2.00 2.75 3.66 1.41 3.27 0.98 0.63 0.30 0.53 1/2-13 1.08 3000
2 F32SFW F32SFTW 2.84 2.47 3.06 4.02 1.69 3.82 1.02 0.63 0.35 0.53 1/2-13 117 3000
2-1/2"  FAOSFW FAOSFTW 3.34 2.95 3.50 4.49 2.00 4.29 1.50 0.75 0.35 0.53 1/2-13 1.79 2500
3 FA8SFW FA8SFTW 4.03 3.58 4.19 5.28 2.44 5.16 1.61 0.87 0.35 0.67 5/8-11 2.69 2000
3-1/2"  F56SFW F56SFTW 4.53 4.03 4.75 5.98 2.75 591 1.10 0.87 0.42 0.67 5/8-11 31 500
4 F64SFW F64SFTW 5.03 4.53 51118 6.38 3.06 5.98 1.38 0.98 0.42 0.67 5/8-11 3.57 500
58 F8OSFW F8OSFTW 6.43 5158 6.00 7.24 3.63 713 1.61 110 0.42 0.67 5/8-11 5.07 500
CODE 62 CAPTIVE FLANGE
1/2"  F8SFXW F8SFXTW 1.28 0.97 1.59 2.20 0.72 1.89 0.87 0.63 0.28 0.33 5/16-18 0.40 6000
3/4"  F12SFXW  F12SFXTW  1.66 1.28 2 2.80 0.94 2.36 1.10 0.75 0.32 0.41 3/8-16 0.75 6000
17 FI6SFXW  F16SFXTW 191 1.53 2.25 3.19 1.09 2.76 1.30 0.94 0.35 0.47 7/16-14 1.28 6000
1-1/4"  F20SFXW  F20SFXTW  2.16 1.75 2.63 3.74 1.25 3.07 1.50 1.06 0.39 0.53 1/2-13 1.70 6000
1-1/2"  F24SFXW  F24SFXTW 253 2.03 3.13 4.4 1.44 3.74 1.69 1.18 0.47 0.67 5/8-11 2.98 6000
2" F32SFXW  F32SFXTW  3.16 2.66 3.81 5.28 1.75 4.49 2.05 1.46 0.47 0.83 3/4-10 4.65 6000

ANFIELD Flange Catalog / Split Flanges / Rev. C (TBD)

www.anfieldind.com Canada: www.mpfiltricanada.com




SAE Female Threaded Flange
NPT Thread 1 E l ANFIELD

B G G
H H
|
A 2B F A T 28
:;::i::;/ //
2z 1 /
J J J U
Figure 1 Fig 1 Fig 2 Figure 2
O-RING FLAT FACE
Anfield kit includes:
B (1) O-Ring flange (NPT port)
B (4) bolts with lock washers
M (1) O-ring (Buna-N)
Steel / Oiled

FLAT FACE MOUNTING
PART NO. HARDWARE

CODE 61 NPT THREAD
1/2" F43-8-8-U  F104-8-8 NPT 1/2” 051 150 213 069 181 142 063 075 1/214 035 5/16-18 210 5/16-18X1.25 0.55 5000
3/4”  F43-12-12-U F104-12-12 NPT 3/4” 075 1.88 256 0.88 1.97 142 071 075 3/4-14 043 3/8-16 214 3/8-16X1.50 0.86 5000
1" FA3-16-16-U F104-16-16 NPT 1" 098 206 276 103 217 150 071 087 1115 043 3/8-16 219 3/8-16X1.50 1.08 5000

1-1/4" FA3-20-20-U F104-20-20 NPT 1-1/4” 126 231 311 119 268 1.61 083 087 1-1/4-115 045 7/16-14 222 7/16-14X1.75 157 4000

1-1/2" F43-24-24-U F104-24-24 NPT 1-1/2" 150 275 3.66 141 307 177 098 094 1-1/2-115 053 1/2-13 225  1/2-13X1.75 249 3000
2" FA3-32-32-U F104-32-32 NPT 2" 201 3.06 402 169 35 177 098 118 2-11.5 053 1/2-13 228  1/2-13X1.75 2.87 3000
2-1/2" FA3-40-40-U F104-40-40 NPT2-1/2" 248 350 449 200 413 197 098 118 2-1/2-8 053 1/2-13 232 1/2-13X1.75  3.97 2500
3" F43-48-48-U F104-48-48 NPT 3’ 287 419 528 244 483 197 106 134 3-8 067  5/8-11 237 5/8-11X2.00 5.07 2000
CODE 62 NPT THREAD
1/2" F44-8-8-U  F45-8-8 NPT1/2" 051 159 220 072 189 142 063 075 1/2-14 035 5/16-18 210 5/16-18X1.25 0.66 6000
3/4” F44-12-12-U F45-12-12 NPT 3/4” 075 200 280 094 217 138 083 087 3/4-14 043 3/8-16 214 3/8-16X1.50 0.79 6000
1" FA44-16-16-U F45-16-16 NPT 1" 098 225 319 109 25 165 098 087 1-11.5 051 7/16-14 219 7/16-14X1.75 1.87 6000
1-1/4" F44-20-20-U F45-20-20 NPT 1-1/4” 126 263 374 125 307 177 1.06 098 1-1/4-115 059 1/2-13 222 1/2-13X1.75 267 6000
1-1/2" F44-24-24-U F45-24-24 NPT1-1/2" 150 313 441 144 370 197 118 1.10 1-1/2-115 0.67 5/8-11 225  5/8-11X2.25 419 6000
2"  FA4-32-32-U F45-32-32 NPT 2" 201 381 528 175 449 25 146 126 2115 083 3/4-10 228 3/4-10X2.75 7.50 6000

Note:
1. Mounting kit available on O-ring grooved flanges by adding suffix letter “U” to part number.

ANFIELD Flange Catalog / Split Flanges / Rev. C (TBD)

USA: www.anfieldind.com Canada: www.mpfiltricanada.com




SAE Female Threaded Flange
E I ANFIELD SAE Thregod

G G
H H
Al i T ﬂBl Al T QBI
157 v 15— SV
J : ) |

Figure 1 Fig 1 Fig 2 Figure 2

O-RING FLAT FACE
Anfield kit includes:
B (1) O-Ring flange (SAE port)
B (4) bolts with lock washers
B (1) O-ring (Buna-N)

Steel / Oiled

FLAT FACE MOUNTING
PART NO. HARDWARE
FIG. 2
nnnnﬂnnnnnwmﬁﬁ
C-2B
CODE 61 SAE STRAIGHT THREAD

1/2" FA46-8-8-U  F106-8-8 3/4’-16UNF 051 150 213 069 181 142 063 067 035 3/4-16  5/16-18 210 5/16-18X1.26 0.57 5000

3/4" FA46-12-12-U F106-12-12 1-1/16"-12UN 0.75 1.88 256 0.88 1.97 142 071 091 043 1-1/16-12 3/8-16 214 3/8-16X1.50 0.79 5000

1" FA46-16-16-U F106-16-16 1-5/16"-12UN 0.98 206 276 103 217 150 071 091 043 1-516-12 3/8-16 219 3/8-16X1.50 0.95 5000

1-1/4” F46-20-20-U F106-20-20 1-5/8"-12UN 126 231 311 119 268 161 083 091 045 1-58-12 7/16-14 222 7/16-14X1.75 1.41 4000

1-1/2" F46-24-24-U F106-24-24 1-7/8"-12UN 150 275 366 141 307 177 098 091 053 1-7/8-12  1/2-13 225 1/2-13X1.75 220 3000

2" F46-32-32-U F106-32-32 2-1/2"-12UN 2.01 3.06 4.02 169 354 177 098 091 053 2-1/2-12 1/2-13 228 1/2-13X1.75 251 3000

2-1/2" FA6-40-40-U F106-40-40  3"-12UN 248 350 449 200 413 197 098 1.18 053  3-12 1/2-13 232 1/2-13X1.75 353 2500

3" F46-48-48-U F106-48-48 3-1/2"-12UN 287 419 528 244 488 197 106 134 067 3-1/212 5/8-11 237 5/8-11X2.00 5.07 2000

4" F46-64-64-U F106-64-64 4-1/2"-12UN 390 513 6.38 306 575 189 106 134 067 4-1/2-12 5/8-11 245  5/8-11X2.00 6.39 500
CODE 62 SAE STRAIGHT THREAD
1/2” F48-8-8-U  F49-8-8 3/4”-16UNF 051 159 220 072 189 142 063 067 035 3/4-16  5/16-18 210 5/16-18X1.25 0.68 6000
3/4” FA8-12-12-U F49-12-12 1-1/16-12UN 0.75 200 280 094 217 138 083 091 043 1-1/16-12 3/8-16 214 3/8-16X1.50 1.10 6000
1" F48-16-16-U F49-16-16 1-5/16"-12UN 0.98 225 319 1.09 256 1.65 098 091 051 1-5/16-12 7/16-14 219 7/16-14X1.75 1.72 6000
1-1/4” F48-20-20-U F49-20-20 1-5/8"-12UN 126 263 374 125 307 177 106 091 059 1-58-12 1/2-13 222 1/2-13X1.75 254 6000
1-1/2" F48-24-24-U F49-24-24 1-7/8"-12UN 150 313 441 144 370 197 118 091 067 1-7/8-12 5/8-11 225  5/8-11X2.25 4.01 6000
2" F48-32-32-U F49-32-32 2-1/2-12UN 201 381 528 175 449 256 146 091 083 2-1/2-12  3/4-10 228  3/4-10X2.75 6.88 6000

Note:
1. Mounting kit available on O-ring grooved flanges by adding suffix letter “U” to part number.

ANFIELD Flange Catalog / Split Flanges / Rev. C (TBD)

USA: www.anfieldind.com Canada: www.mpfiltricanada.com




SAE Deep Socket Weld Flange El ANFIELD

G
‘-Hl_
JE—
OA | et e -—gsl
I

Figure 1 Fig 1 Fig 2 Figure 2
O-RING FLAT FACE

B O-Ring flange includes:
O-Ring, (4) bolts and
lock washers.

FLAT FACE MOUNTING MAX
PART NO. HARDWARE WP
Fig 2 (psi)

1/2”  F31-8-8-U F3-8-8 085 051 150 213 069 181 142 063 075 035 5/16-18 210 5/16-18X1.25  0.55 5000
3/4"  F31-12-12-U F3-12-12 107 075 188 25 088 197 142 071 075 043  3/8-16 214 3/8-16X1.50  0.86 5000
1" F31-16-16-U F3-16-16 134 098 206 276 1.03 217 150 071 075 043  3/8-16 219 3/8-16X1.50  1.08 5000
1-1/4” F31-20-20-U F3-20-20 169 126 231 311 119 268 161 083 087 045 7/16-14 222 716-14X1.75 157 4000
1-1/2" F31-24-24-U F3-24-24 191 150 275 366 141 307 177 098 094 053 1/2-13 225 1/2-13X1.75 249 3000
2" F31-32-32-U F3-32-32 240 201 306 402 169 354 177 098 102 053 1/2-13 228 1/2-13X1.75  2.87 3000
2-1/2" F31-40-40-U F3-40-40 309 248 350 449 200 417 197 098 118 053  1/2-13 232 1/2-13X1.75 353 2500
3" F31-48-48-U F3-48-48 356 287 419 528 244 488 197 106 134 067  58-11 237 5/8-11X2.00 507 2000
3-1/2" F31-566-56-U F3-56-56 406 350 475 598 275 535 189 106 134 067  58-11 241 5/8-11X2.75  5.51 500
4" F31-64-64-U F3-64-64 455 390 513 638 306 58 189 1.06 134 067  58-11 245 5/8-11X2.75  6.39 500
5"  F31-80-80-U F3-80-80 559 472 600 724 363 709 197 114 110 067 5811 253 5/8-11X3.00  8.82 500

1/2"  F81-8-8-U F80-8-8 085 051 159 220 072 189 142 063 075 035 5/16-18 210 5/16-18X1.25  0.66 6000
3/4” F81-12-12-U F80-12-12 1.07 075 200 280 094 217 138 083 087 043 3/8-16 214 3/8-16X1.50 123 6000
1" F81-16-16-U F80-16-16 1.34 098 225 319 109 256 1.65 098 087 051 7/16-14 219 7/16-14X1.75  1.87 6000
1-1/4" F81-20-20-U F80-20-20 169 126 263 374 125 307 177 1.06 098 059  1/2-13 222 1/2-13X1.75  2.67 6000
1-1/2" F81-24-24-U F80-24-24 191 150 313 441 144 370 197 118 110 067  58-11 225 5/8-11X2.25 419 6000
2" F81-32-32-U F80-32-32 240 201 381 528 175 449 25 146 126 083  3/4-10 228 3/4-10X2.75  7.50 6000
2-1/2" F81-40-40-U F80-40-40 309 248 488 709 231 598 315 177 118 098 7/8-9 232 7/8-9X3.50  18.30 6000
3"  F81-48-48-U F80-48-48 356 287 6.00 819 281 701 354 217 118 126 1-1/8-7 237 1-1/8-7X4.50  36.38 6000

ANFIELD Flange Catalog / Split Flanges / Rev. C (TBD)

USA: www.anfieldind.com Canada: www.mpfiltricanada.com




A4

ANFIELD

H Blanking Flange
I Shipping Plate

Figure 1
O-RING

FLAT FACE
PART NO.
Fig1to2

SAE Blanking Flange

D). | D
Y

“+-— _ | _—— E F
1D | _D ‘
\k/ | 1/
*\i ‘

0-PSI
SHIPPING
PLATE
0-RING

KIT
PART NO.

O-PSI Shipping Plate

H Blanking Flange

i—

po

Figure 2

FLAT FACE

MOUNTING
HARDWARE

172" F36-8-8-U F37-8-8 FSP-8-U 150 213 069 181 063 032 035 210 5/16-18X1.50 ~ 0.53 5000
3/4" F36-12-12-U F37-12-12  FSP-12-U 188 266 088 197 063 032 043 214 3/8-16X1.50 0.66 5000
1" F36-16-16-U F37-16-16  FSP-16-U 206 276 103 236 075 032 043 219 3/8-16X1.75 0.99 5000
1-1/4" F36-20-20-U F37-20-20  FSP-20-U 231 311 119 268 071 032 045 222 7/16-14X1.756  1.32 4000
1-1/2" F36-24-24-U F37-24-24  FSP-24-U 275 366 141 307 079 032 053 225 1/2-13X2.25 1.83 3000
2" F36-32-32-U F37-32-32 FSP-32-U 306 402 169 35 079 032 053 228 1/2-13X2.50 2.56 3000
2-1/2" F36-40-40-U F37-40-40  FSP-40-U 350 449 200 413 079 032 053 232 1/2-13X2.75 3.09 2500
3" F36-48-48-U [F37-48-48  FSP-48-U 419 528 244 483 094 032 0.69 237 5/8-11X3.50 5.18 2000
3-1/2" F36-56-56-U F37-56-56 FSP-56-U 475 598 275 535 087 032 069 241 5/8-11X2.75 7.05 500
4" F36-64-64-U F37-64-64 FSP-64-U 513 638 306 575 098 032 0.69 245 5/8-11X2.75 8.38 500
5" F35-80-80-U F37-80-80 FSP-80-U 6.00 748 363 669 110 032 0.69 253 5/8-11X3.00 9.26 500
1/2"  F38-8-8-U F39-8-8 FSPX-8-U 169 220 072 189 063 032 035 210 5/16-18X2.00 ~ 0.55 6000
3/4"  F38-12-12-U F39-12-12  FSPX-12-U 200 280 094 236 075 032 043 214 3/8-16X2.00 1.06 6000
1" F38-16-16-U F39-16-16  FSPX-16-U 226 319 109 276 094 032 051 219 7/16-14X2.50 170 6000
1-1/4" F38-20-20-U F39-20-20 FSPX-20-U 263 374 125 307 106 032 059 222 1/2-13X2.50 2.49 6000
1-1/2" F38-24-24-U F39-24-24  FSPX-24-U 313 441 144 370 118 032 067 225 5/8-11X3.00 3.97 6000
2" F38-32-32-U F39-32-32 FSPX-32-U 381 528 175 449 110 032 083 228 3/4-10X3.00 o129 6000
2-1/2" F38-40-40-U F39-40-40 FSPX-40-U 488 709 231 598 177 032 102 232 7/8-9X3.50 11.68 6000
3"  F38-48-48-U [F39-48-48 FSPX-48-U 600 819 281 701 217 032 126 237 1-1/8-7X450  19.84 6000

USA: www.anfieldind.com

Canada: www.mpfiltricanada.com

ANFIELD Flange Catalog / Split Flanges / Rev. C (TBD)




Threaded Elbow Flanges (90°) E ANFIELD

NPT Thread

| |
| y—
@ IV 1 NN, Anfield kit includes:
| “ _I_ W (1) 90° elbow flange
S W — / a\\ A B (4) bolts with lock washers
- | - <‘I‘> B (1) O-ring (Buna-N)
2K -
H C
| 1
L1 D

Steel / Oiled

CODE 61 ELBOW - NPT THREAD

SIZE ANFIELD DIMENSIONS MOUNTING
(in.) PAHT NO. (in.) HARDWARE
ONLY FOR
KT -ﬂllﬂﬂﬂllﬂn-“
. CODEGIEBOW-WPTWREO ______ |

U7 F6SES8 o WTI2 051 150 213 069 063 071 079 146 035 O O30 N MBI o o753 5000
yo FieE1212 . NTIS 075 188 256 088 071 071 094 154 043 Y0 UNCZ MIOXIS0 oy g g0
©* FIBBE1616 0 NPT 09 206 276 103 075 075 110 173 043 OO I0MNCZ MIONIS0 o 5 5000
114 FIBBE2020 o NPTIU4 126 231 311 119 083 087 134 205 045 O ONOZ MIOXASan g aono
1172 FI6SE-24-24 o NPTI2 150 275 366 141 098 094 150 224 053 ZRONCP MIERLIgp5 gy a0
2 F16BE3232 o NPTZ 201 306 402 169 098 106 165 256 053 20U MZXLTS gy g0
CODE 62 ELBOW - NPT THREAD
12 FIBSES8 o NPT12 051 159 220 072 063 075 079 150 035 O C7SNCZMBXIZE o g7 gopg
ya FigBE-12-12 L NPTYA 075 200 280 094 075 075 110 169 o043 OO0 MOS0y g
1" FI88E-16-16 © NPT1® 098 225 311 109 083 079 134 201 o5 [OM4UNGZB L MI2XLISoie o gonp
Y X1.75 x40
14 FIBBE2020 U NPTIUA 126 263 366 125 098 087 150 220 053 2100 : 222 320 6000
: : M14x 175
114 FI88E-2020 -M NPT1-4" 126 263 366 125 098 087 150 220 059 : LTS 320 6000
1172 FIgBE24-20 4 NPTIZ 150 313 433 144 088 094 165 256 067 0| MIBXA00 o5 6y g
> FgsE2-3 o NPT2 201 381 528 175 130 106 177 295 og3 O IOUNCZB MBXIZ 50 g5 Go00
-M X2.75 x 30
Note:

1. For UNC flange kit add suffix letter ‘U’ to part number ending, Kit includes: (1) flange, (4) UNC bolts with lock washers, (1) Buna-N O-Ring.
2. For Metric flange kit add suffix letter ‘M’ to part number ending, Kit includes: (1) flange, (4) Metric bolts with lock washers, (1) Buna-N O-Ring.
3. For flange ONLY (without mounting hardware) add -NO HARDWARE. Example: F168E-20-20-NO HARDWARE is 1-1/4” Code 61 flange only.
4. For 1-1/4 CD 62 model only, if flange ONLY is required, part no. is as follows for the UNC or Metric versions:

= Part no. F188E-20-20-U-NO HARDWARE is the FLANGE ONLY for use with 1/2" UNC bolts. (Mounting thru-hole diameter K=0.53")

B Part no. F188E-20-20-M-NO HARDWARE is the FLANGE ONLY for use with M14 bolts. (Mounting thru-hole diameter K=0.59")

ANFIELD Flange Catalog / Split Flanges / Rev. C (TBD)

USA: www.anfieldind.com Canada: www.mpfiltricanada.com




Threaded Elbow Flanges (90°
E I ANFIELD SAE S’r%igh’r *hreog

\\
L2

Anfield kit includes:
L o B (1) 90° elbow flange
| B B (4) bolts with lock washers
| _ B (1) O-ring (Buna-N)
S
H (c;
L1 D

Steel / Oiled

SIZE ANFIELD MOUNTING
(in.) PART NO. HARDWARE
ONLY FOR

k| s JefcfofefufrJuJurlek] v | w ]

CODE 61 ELBOW - SAE THREAD

12 FIGAE88 L IAIGUNE 051 150 213 069 063 067 079 145 035 O O7ONCZBMBXIE o o753 500
I& FIAET2-12 ) TUAG-2N 075 188 256 088 071 091 094 154 043 U0 U MIOXIS0 oy g o
' FIBIE16-16 1 15161200 098 206 276 103 075 091 110 173 o4 SR MOKIS0 o 6 500
11/4 FIGIE2020 1 15BN 126 231 311 119 083 091 134 206 045 O PONCZB MIONIS0 g5 gy 4000
11/2 FIGAE2424 1 178120 150 275 366 141 098 091 150 224 g3 RN MERLIg55 gy a0
2 FBMER232 ) 222N 201 306 402 169 098 091 165 256 053 oo MZXITSgp g g000
CODE 62 ELBOW - SAE THREAD
17 FIGAE88  y IAI6UF 051 159 220 072 063 067 079 150 035 °OTSINCZMBXIZE o g7z g
I4 FBMEA212 1 LVIGU2N 075 200 280 094 075 091 110 169 o4 P MRS oy s g
1" FIB4EIE-16 o 15161208 098 225 311 109 083 091 134 201 o5 [CT4UNCZBMI2XTIS o0 oay gogg
Y X1.75 x40
114 FIBE2020 U 156120 126 263 366 125 098 091 150 220 053 XU : 20 320 6000
: ,, M14x175
114 FIB4E20-20 -M 158120 126 263 366 125 098 091 150 220 059 : LTS g 320 6000
1172 FIBAE2424 178120 150 313 433 144 088 091 165 286 067 0 NCZ MIOKA00 a5 g7 o
2 FBIERR 0 212912N 201 381 528 175 130 091 177 295 0gs OTPUCE WBXIE g g oo

Note:
1. For UNC flange kit add suffix letter ‘U’ to part number ending, Kit includes: (1) flange, (4) UNC bolts with lock washers, (1) Buna-N O-Ring.
2. For Metric flange kit add suffix letter ‘M’ to part number ending, Kit includes: (1) flange, (4) Metric bolts with lock washers, (1) Buna-N O-Ring.
3. For flange ONLY (without mounting hardware) add -NO HARDWARE. Example: F164E-20-20-NO HARDWARE is 1-1/4” Code 61 flange only.
4. For 1-1/4 CD 62 model only, if flange ONLY is required, part no. is as follows for the UNC or Metric versions:

= Part no. F184E-20-20-U-NO HARDWARE is the FLANGE ONLY for use with 1/2" UNC bolts. (Mounting thru-hole diameter K=0.53")

B Part no. F184E-20-20-M-NO HARDWARE is the FLANGE ONLY for use with M14 bolts. (Mounting thru-hole diameter K=0.59")

ANFIELD Flange Catalog / Split Flanges / Rev. C (TBD)

USA: www.anfieldind.com Canada: www.mpfiltricanada.com




Spacer Blocks with Gauge Port at
¥:] ANFIELD

€
£ b b G1/4
™ o e
ci. c c
%‘\ T ' T l
1 ' L} T H :
D Ll ) D D 5 1 U
1V | \ 1 ~~
ww| - —1—" ww| - : - Yoo
I I
[%]:] 2B H
oK K T
Form A Form B
ANFIELD STANDARD
Available gauge port options: Ordering Code:  Flange Size (11 Material:
1/4” BSPP gauge port FAS-GP-[[J-G1/4 (Anfield Standard) 1. Carbon Steel
1/4” NPT gauge port FAS-GP-[[J-N1/4 Bare - oiled FAS-GP-OI-OO0
SAE-4 gauge port FAS-GP-[[J-SAE4 Zinc Cr3 finish FAS-GP-JJ--ZnCr3
M10 gauge port FAS-GP-[J-M10 Nickel-zinc finish  FAS-GP-[J[J-[JCICI-NizZn
1/4” NPT & SAE-4 dual gauge port FAS-GP-[J[J-N1/4+SAE4 2. AISI 321/304 FAS-GP--OO0-X
. AlISI 316L FAS-GP--OCC-XX

KIT WT
| 8 | ¢ [ o | e | F | W [ k |

SAE CODE 61 3000 psi

1/2" FAS-GP-8-C1C101 0.51 1.50 2.20 0.69 1.81 0.94 0.35 0.71 5000
3/4 FAS-GP-12-000101 0.75 1.88 2.56 0.88 1.97 0.94 0.43 0.82 5000
1" FAS-GP-16-0C10101 0.98 2.06 2.80 1.03 2.39 0.94 0.43 1.04 5000
1-1/4 FAS-GP-20-010001 1.26 2.31 311 1.19 2.68 0.94 0.49 1.26 4000
1-1/2 FAS-GP-24-000001 1.50 2.75 3.66 1.41 3.07 0.94 0.53 1.76 3000
2" FAS-GP-32-010001 2.01 3.06 4.02 1.69 3.54 0.94 0.53 2.07 3000
2-1/2" FAS-GP-40-010101 248 3.50 4.49 2.00 413 0.98 0.53 2.69 2500
& FAS-GP-48-010101 2.87 419 5.28 2.44 4.88 0.91 0.69 3.46 2000
SAE CODE 62 6000 psi

172" FASX-GP-8-000101 0.51 1.50 2.20 0.72 1.81 0.94 0.35 0.71 6000
3/4" FASX-GP-12-0000 0.75 2.00 2.80 0.94 2.39 0.94 0.43 1.10 6000
1" FASX-GP-16-000101 0.98 2.25 3.19 1.09 2.76 0.94 0.51 1.46 6000
1-1/4" FASX-GP-20-00010 1.26 2.63 378 1.25 3.15 0.94 0.59 1.90 6000
1-1/2 FASX-GP-24-010001 1.50 3.13 4.41 1.44 3.70 0.94 0.67 2.75 6000
2" FASX-GP-32-000001 2.01 3.81 5.28 1.75 4.49 0.94 0.83 3.73 6000

ANFIELD Flange Catalog / Split Flanges / Rev. C (TBD)

USA: www.anfieldind.com Canada: www.mpfiltricanada.com




EI ANFIELD Flange Pattern Adapters

H F F
E1 E1
l l
v fa\zar)\ ey @D
7 INA IR
871 n,@/\‘*”« n,@/\"*”m
= > %/'”/ @ f} '\.J/ D >
v/ /A
|y~ @\\an) N
. S )\ L\
C2 C2
Form A Form B
Ordering Code: Material:
FPA-B1-B2 1. Carbon Steel
B1 O-Ring face Bare - oiled FPA-CIO-CIO (Anfield standard)
B2 Flat face Zinc Cr3 finish FPA-CJO-CJ-2nCr3
Ordering Example: FPA-20-16:  114'CD61 to 1'CD61 Nickek-zinc finish  FPA-LILI-LILI-Nizn
O-Rng  Flat 2. AISI321/304  FPA-O0O-O00-X
3. AISI316L FPA-CIOI-O-XX

(in.) PART NO.FPA WP

- 0-ring face Si|

e | o[ [ o [Ea e[ W[ W] or [om | |™
3/4"-1/2"  FPA-12-8 0.75 0.51 1.88 1.50 2.64 0.88 0.69 2.20 1.10 0.43 M8 M10x1.38 0.98x0.14 1.34 5000
1-3/4” FPA-16-12 0.98 0.75 2.06 1.88 2.83 1.03 0.88 2.56 1.18 0.43 M10  M10x1.38 1.30x0.14 1.85 5000
11/4”-1" FPA-20-16 1.26 0.98 2.31 2.06 3.15 1.19 1.03 2.76 1.18 0.45 M10  M10x157 1.48x014 220 4000
11/2"-11/4 FPA-24-20 1.50 1.26 2.75 2.31 3.74 1.41 1.19 3,19 1.18 0.53 M10  M12x1.77 1.86x0.14 293 3000
2"-11/2"  FPA-32-24 1.81 1.50 3.06 2.75 4.02 1.69 1.41 3.74 1.18 0.53 M12  M12x1.77 223x014 3.86 3000
2"-11/4"  FPA-32-20 2.01 1.26 3.06 2.31 4.02 1.69 1.19 3,18 1.38 0.53 M10 Mi12x1.77 223x014 375 3000
21/2"-2" FPA-40-32 248 2.01 3.50 3.06 4.49 2.00 1.69 4.29 1.38 0.53 M12  M12x1.77 273x014 456 2500
21/2"-11/2" FPA-40-24 248 1.50 3.50 2.75 4.49 2.00 1.41 4.29 1.38 0.53 M12  Mi12x1.77 273x014 489 2500
3-2" FPA-48-32 2.87 2.01 419 3.06 8.0 2.44 1.69 4.49 1.57 0.67 M12  M16x197 336x0.14 7.63 2000
3"-21/2" FPA-48-40 2.87 2.48 419 3.50 501 2.44 2.00 4.49 1.57 0.67 M12  M16x197 3.36x0.14 6.55 2000
SAE CODE 62 6000 psi
3/4"-1/2"  FPAX-12-8 0.75 0.51 2.00 1.61 2.76 0.94 0.72 2.20 1.10 0.43 M8 M10x1.38 098x0.14 150 6000
3/4"-3/4"  FPAX-12-12 0.75 0.75 2.00 2.00 2.76 0.94 0.94 2.76 1.10 0.43 M10  M10x1.38 0.98x0.14 1.92 6000
1"-3/4” FPAX-16-12 0.98 0.75 2.25 2.00 3.19 1.09 0.94 2.76 1.18 0.51 M10  M12x1.77 130x0.14 170 6000
i"=1" FPAX-16-16 0.98 0.98 2.25 2.25 3.19 1.09 1.09 2.95 1.42 0.51 Mi12  Mi12x1.77 130x0.14 216 6000
11/4°-1” FPAX-20-16 1.26 0.98 2.63 2.25 3.94 1.25 1.09 3.27 1.38 0.59 M12  M14x157 148x0.14 3.86 6000
11/4’-11/4”  FPAx-20-20 1.26 1.26 2.63 2.63 3.94 1.25 1.25 3.54 1.38 0.59 M14  M14x197 148x0.14 4.06 6000
11/2"-11/4"  FPAX-24-20 1.50 1.26 313 2.63 4.45 1.44 1.25 3.74 1.89 0.67 M14  M16x217 1.86x0.14 520 6000
11/2"-11/2" FPAX-24-24 1.50 1.50 313 S8 4.45 1.44 1.44 4.45 1.97 0.67 M16 Mi16x217 1.86x0.14 6.46 6000
2"-11/2" FPAX-32-24 2.01 1.50 3.81 313 B3] 1.75 1.44 492 2.36 0.83 M16 M20x236 223x0.14 1045 6000
21/2"-2" FPAX-40-32 248 2.01 4.88 3.81 7.09 2.31 1.75 5.98 2.76 1.02 M20 M24x315 273x0.14 19.67 6000

ANFIELD Flange Catalog / Split Flanges / Rev. C (TBD)

USA: www.anfieldind.com Canada: www.mpfiltricanada.com 10




Strength in Products,
Strength in Service

Pressure Switches
Temperature Switches
Differential Switches
Level Switches

Vacuum Switches
Transducers

Gear Pumps

Vane Pumps

Dump Pumps

Variable Piston Pumps
Orbital Motors

Vane Motors

Gear Motors

Monoblock Valves

High Pressure Ball Valves
Flow Controls & Needle Valves
Drive Couplings

Flanges

Gauges

Test Points

~
[0p]
©
-
i}
o)
S
Q@
[}
(2]
~
3
<
o
3
@
O

Anfield Industries Inc.

USA Canada

375 International Park 8831 Keele Street
Suite 300 Concord, Ontario
Newnan, Georgia 30265 L4K 2N1

Phone: (404) 530-3804 Phone: (905) 303-1369
Fax:  (404) 530-3805 Fax:  (905) 303-7256

Email: info@anfieldind.com Email: sales@mpfiltricanada.com
Web:  www.anfieldind.com Web:  www.mpfiltricanada.com




